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Question Number : 1 Question Id : 813561481 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Three squares of a chessboard are selected at random. The probability of selecting two squares of one
colour and the other of a different color 1s equal to

8 t5orio LD (0 BABFVE" 3 J0) D) 6. IS’ Both 28 Gord, FE D) dord 04

EolitrS (v Roerdyd Dod?

Options:

10
1.% 17

15
19

17
23
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Question Number : 2 Question Id : 813561482 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

The value of (sin 210)(sin 585 ) is

(sin 210 )(sin 585 ) Dend

Options:
1

—_—
{

2\.'4.

1.¢

)

Question Number : 3 Question Id : 813561483 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:
Vertical

3

The curves v = 4x% + 2x —8 and y = x3 — x + 13 touch each other at the point

y=4x% +2x — 8 2Batw y = x° — x + 13 50 0y6\D0BOY)
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Options:
. u (34,8)

) v (3,34)

s« (3,34)

i F34,3)

Question Number : 4 Question Id : 813561484 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

If the magnitude of the vector product of the vector i+ } + k with a unit vector along the sum of the
vectors 27 + 4j -5 kand i + 2j + 3kis equal to 2. then the value of 1" is

T4+ ko8 208030 21 +4) -5k, 11 +2] +3k 2680 Hosuido ), B36° 68)
QKPS REEL), DAT Vw0 B8, DoYE VEF AIE) HOATT0 Do 12. L8, 1 =

Options:

1% 1
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Question Number : 5 Question Id : 813561485 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:
Vertical
/2
B ] = ] sin"(x) dx and I = (k)I,_5 then what will be the value of k ?
0
n/2
Iy = f sin™(x) dx 208a3w I, = (k)I,—, @00, k =
0

Options:
n

n—1

n—1
n+1

n
n+1

Question Number : 6 Question Id : 813561486 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical
L 2 1 0
Let M = [0 ll and N = 0 2 I.Then NMPON—L =
_NE B N E et
M_[O l,N— 0 2‘. oD, NM*"N ™ * =
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Options:
1 5
0 1
1.
0 1
2 %
1 -—1d0
0 1
3%

Question Number : 7 Question Id : 813561487 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Find ‘A’ if @, b, c are three non-coplanar vectors such that
47 +3b -T 4a+3b+2C T-4b-T|=RP+r+D@ b 7]

T,h,T e 20 ©3dodiIu $od DS By HOE 1 deod

[47+3b -T 4a+3b+2c T-4b-c|=(PF+i+D[@ b 7]

Options:

" —7,8
2.8 e W
3J7, 8
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Question Number : 8 Question Id : 813561488 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

The sine of the angle between the pair of lines represented by the equation x* — 7xy + 12y% = 0 s

12 = Txy + 12y = 0 Sarosrf)2 S0 Stk f o, sin f Dews) Bwidoc.

Options:
1

1, % 12

Question Number : 9 Question Id : 813561489 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Find the coefficient of x> in (1 4+ x + x?2)8.

(1+ x4 x?)° DHceaes” x° ciwg), DA BwdoC.
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Options:

, x 405

, % 508

3 x 404

Question Number : 10 Question Id : 813561490 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the circle with Centre (2, 3) and touching the line 3x —4y+ 1 =01s

3x — 4y + 1= 0 80 380 (2,3) o3I Mo 3,8 HSCHAW

Options:

w2y Hax+4y+12=0
2. % 2+ yP—4x—-6y—14=0
3, % x*+y°—4x—6y+14=0
4.9 x*4+y* —4x-6y+12=0

Question Number : 11 Question Id : 813561491 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

The equation of any
C, cER)

in the complex plane is of the form zZ + b7 + bz + ¢ = 0 where (b €

(bEC cER)OS 2z +b7 + bz+c=0 a&swmmégm&»@‘a $08 TS
983008 ATFRVA?
Options:

Circle

1. & SN Febl

Straight line
, % RO¥ B

Parabola
. DTHL00D

Hyperbola

4 % BDBVT"DVODIN

Question Number : 12 Question Id : 813561492 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

xz

_ , 1S
(x—a)(x—Db)

The fraction

x2

(x—a)(x—b)

eD:bi:m

Options:
always a proper partial fraction
 DUQDHE S SDDV) AW

1. %
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always an improper partial fraction
T, .)g.g‘t:p_)bc‘.s 28 es::é:»e‘,‘)é;lan

a proper partial fraction for certain values of a, b only
a,beo§ S)) DEVIHVE AFrBaD S0 AT

3, ®

an improper partial fraction for certamn values of a, b only

- a,b © §Q) DIV AP VDE D)o
4. %

Question Number : 13 Question Id : 813561493 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In a regular hexagon ABCDEF, AD + EB + FC = (31 — 8)AB. Then A =

ABCDEF $35iacon2es” AD +EB + FC = (34 — 8)AB e00d 1 =

Options:
3

i 22

Question Number : 14 Question Id : 813561494 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the ellipse with its focus at (6, 2) centre at (1, 2) and which passes through the pont
(4,6) 15

(4,6) Dot ot T, (1,2) Sogwre £8A (6,2) D $DAY B8 oRvECmA

Options:
(x-1)%¢ (y-2)°
25 . S

—1)? —2)?
(x—1 +(y )

=1
, u B 20
(x—-1)% (y-1)°
. -1
3 ® 45 16
(x—-1)%2 (y-2)2
+ = 16
Lo 45 20

Question Number : 15 Question Id : 813561495 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

6

If f:R = R s defined as f(x) =

, V x € R, then the range of f 15

x®+2020 e
6
f:R-R, f(x)= it VYER ™ .Ddsﬁsﬂoﬂ)a, DA f g T
Options:
, x £0:1]
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[0,)

L o [0.1)

. 053)

Question Number : 16 Question Id : 813561496 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The value of k" for which the equation x* — 4xy — v + 6x + 2y + k = 0 represents a pair of
straight lmes 15 equal to

o~ dry — 7 4 60+ 2y 4k = 0 20800 48 H6¥ Baratormyd) ArdY, k =

Options:

Question Number : 17 Question Id : 813561497 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

s s g , . d | s _
The general solution of the differential equation d_y +y g'(x) = g(x) g'(x) s
X

j_Jx’ 1y g'(x) = g(x) g'(x) ©I%0D DTS FTroe FSH

Options:

. g() +log(1+v+g(x) =c

5 o g(x) + log(l +y — g(_.r_)) =
s x 90 —log(1+y+g(x) =c

o 900 —log(1 4y —g() =c

Question Number : 18 Question Id : 813561498 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Consider the family of circles x + y — 2x — 24y — 8 = 0 which passes through two fixed points
A & B distance between them is

9S00 12+t —2x - 20y -8 =0, Botd %}deﬁodo@w A, B o ot V'8, T8 S0 GroR)
BVDG..

Options:
4

1. %

4+/2
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3. ¢

4, ®

Question Number : 19 Question Id : 813561499 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Geometric mean of tan 1°,tan 2°, ... ... ... ,tan 89° 1s

1. an2” ..  tan 89° "’*3“&-)59 meam@sman

Options:
1

89

1. %

Question Number : 20 Question Id : 813561500 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When a comn is tossed 6 times. the probability of getting more heads than tails is

28 TEI0 6 FE A6 SVDYCD. e DWVET) 27320 &) 2)S0), ) NI oz d
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Options:
13
32

15
b

x 32
4. v

Question Number : 21 Question Id : 813561501 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

: 13"
In the expansion of (a + 17 E) . Where n € N there are 2029 terms. Thenn =

n
(a+1+2) daome" 2029 Desnen eodd. n Devd Jod? (n € N)

Options:
1 % 1015

5 % 1013

4 % 1012
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Question Number : 22 Question Id : 813561502 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

General solution of 4sin?(x) —4sin(x) +1=01is

4sin®(x) —4sin(x)4+1=0% .3‘*65@5 D BwDod.
Options:

T
= ZHT(i? o T

1 %
3
x=nr+(-1D)"— . n€ez
2 % ' 3
T
_1‘=n.n+(—l)"'? . NEZ
3.V
T
x=nr+(-1)"— . n€ez
4. % #

Question Number : 23 Question Id : 813561503 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

: E 1 8 2x b 2 (g
If Tanh™ (x +iy) =?Tanh 1( 1+I2+y3) t7Tan 1(1_;_}?2)*11'11&1% X,y € R, then Tanh™(iy) =

) . 2x '
Tanh™* (x + iy) = 3 Tanh™ ( - ) + iT*sm'1 ( 2) X,V € R 900A). Tanh'l(_f_v} 2

1+xi4y3) " 2 1-x2-y

Options:

. Tanh™(y)
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—i Tanh™(y)

2. ®
i Tan"1(y
A )
—i Tan"(y
- »)

Question Number : 24 Question Id : 813561504 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the total number of rectangles on a normal chessboard.

FTTO8 WG LD (o AFLBEI L 08y

Options:

8 8
w C, X °C,

Question Number : 25 Question Id : 813561505 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The eccentricity of an ellipse. with 1ts centre as origin, 1s 1/2. If one of the directrices 1s x = 4. then
the equation of the ellipse 15 given by

NPV Sodorr AV w8 &gﬁﬂ 68,069 1/2 £00atn 28 Jobd 8 x = 4 LA, ¥

66:3)8 PGB BVDoE.
Options:
R
1 4x° +y° =12
2 2 __
5 u EE 3yc =12

12

3 % 4x% + 3y?

2 .2
o 32 +4y2 =12

4,

Question Number : 26 Question Id : 813561506 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The length of the chord intercepted by the circle x + y* — 6x + 8y —5 = 0 on the line 2x —y = 5
1s equal to units

x* +y2—6x+8y—5 =0 S0, 2x -y =5 Bap 363&3 & JED) VLNV

Lo ]

Options:

1-Q/ID
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Question Number : 27 Question Id : 813561507 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let f(x) be a polynomial and a, b be distinct real numbers. Then the remainder in the division of f(x)
by (x—a)(x—b)1s

£(x) 08 Hednaw. o, b o QDR TR Dowjen. f(x) & (x-a)(x-D) & WPhodT S0y

300 BVHG.
Options:

(x—a)f (@)= (x=b)f (b)
1. % a—b

(x—a)f(b)—(x—b)f(a)
2. % a—b

(x—a)f(b)—(x—b)f(a)

(x—a)f(a)—(x—D)f(b)
4. % .

Question Number : 28 Question Id : 813561508 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If one of the two circle x? + y* + ay(x = y) + ¢ = 0and x* + y* + ay(x = y) + ¢ = 0. lies within
the other. then (where a;,@, € R,y # ;)

x4y a(x—y) 4 0= 0308080 X% + 2+ ay(x — y) + ¢ = 0 yzrw w8 DFse

@M Gobd. @Q)@ (ﬂ'l,ﬂ'g ER,ﬂliﬂ‘fz)

Options:

Question Number : 29 Question Id : 813561509 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the plane through the mtersection of the planes x + 2y + 3z -4 =0 and 4x +
3y + 2z + 1 = 0 and passing through the origin 1s

x+2y+32-4=0 20050 4x + 3y + 2z + 1 = 0 dere $E0:50 Mot TAr Aredoddd)
ot Vot o HEdAN

Options:

, 17x + 14y + 11z =0

, & 1x+4y+z=0

x+14y+11z=0

3. ¥
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4 % 17x+y+2z=0

Question Number : 30 Question Id : 813561510 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Exactly how many functions f: Q — @ exist such that f(x + y) = f(x) + f(y) and f(xy) =
f(x)f(y) forall x,y € 0?

f:Q-0Q &bk f(x+y)=fx)+f(y) flxy)=f)f(y) Yxy € Q7 T ok

0500 o

Options:
One
1 % 2,88

Two

Three

3 % ST

Infinitely many

4 % DPDID

Question Number : 31 Question Id : 813561511 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Let z = x + yi. where x.y are integers and i = v—1 the area of the rectangle whose vertices are the
roofs of the equation Z z* + z(2)® = 700 is

vy 0 QTosanen. | =v=1, 2= x +yi, 72° +2(2)? = 700 26K T8, HPVKLD
BESWRDIT o) BESAIGRAD G DTV Jodd?

Options:
32

1. %

Question Number : 32 Question Id : 813561512 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the subnormal at any point on the curve y" = ax 1is constant then the value of n 1s

V' = ax 578 DB Do) 56 AR -V JED) %6:.113 0NN, N =

Options:

g &

2.9
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4, %

Question Number : 33 Question Id : 813561513 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

o 75 . il [k : .
The derivative of f(x) = Cos l[sm \’Eli-x"’ with respect to x at x = 1 15 equal to

f(x) = Cos™ |sin JT; 7 0o, x =156 x Cﬁgg"?s fx) ds0H80

Options:

Question Number : 34 Question Id : 813561514 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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dy .
The particular solution of the differential equation e secy.yv(0)=01s
X

d
d_y = secy . y(0) = 0 e9580d HOLERL HED Fed
A

Options:
X = COSYy

. XxX=siny+gq

sSin x

L
.
[

o
|l

sin y

Question Number : 35 Question Id : 813561515 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The ratio in which the point P, whose abscissa is 3. divides the join of A(6,5) and B(—1,4) 1s equal
10

A(6,5) 208050 B(-1,4) Dodwsd §95 Sk, x-drasam 3 e 6o Doddy) P Jzeowd
Ay fedovsol..

Options:
v 34
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Question Number : 36 Question Id : 813561516 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If sina =sinf and cosa = cosf thena — f = for some integer n

sina =sinff 008 cosa =cosf GOV a—f = (n ".gyg"osnm
Options:
| % NW
T
2nmw + —
2. 2
g
anyw ——
3, ® ‘
4 2nm

Question Number : 37 Question Id : 813561517 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

It P and Q each toss three coms. The probability that both gets same number of heads. 1s

P, Q 00 2,8)8) 6 Sred TEAVWY JEDIYE *‘agﬁé 1" 20} © Vo3[ DATIRAE® & WY
ﬁnﬁ?iﬁéé

Options:

1, %
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Question Number : 38 Question Id : 813561518 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

V3 sin(8) + cos(8) B

. m
sin (6 + F)
Options:
1 8 —2
2. % 1
3. .
4% 1

Question Number : 39 Question Id : 813561519 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When the origin is shifted to (2, 3) the transformed equation x? + 3xy — 2y% + 17x = 7y = 11 = 0 then the
original equation of curve is

Aoy (2,3) Do) S6% &rdy, DiSrods BLIBIGH Sabrr 48 HRSHnD ag), 4rds

65w x4 3xy = 22 + 170 = Ty - 11 = 0 00w, e %0866 Budods

Options:
e x2—2v?—3xy+4x—v+20=0
x2—2y24+3xy+4x—y—-20=0
2. ¢ ' ) .
- N S R .
_ X 2V 3xy—4x—y+20=0
3, % ' : ;
- S W I . —— -
- X 2y 3xy+4x—y—20=0
4- h - & -v’

Question Number : 40 Question Id : 813561520 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The circle x* + y2 = 6x — 10y + p = 0 neither infersects nor touch the coordinate axes and the point
(1,4) lies inside the circle. Then the range of possible values of *p’ 1s

P4yt =6x =10y +p = 0 530 JEPHTTOR Ry Tothdt) Gebd 200k dodoiot) Tek. &

2,820 (1, 4) DockoaPA 38 eosse" $OA G0, “p’ & FesjSoaby Dewde @

Options:
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2 # 25 <p<29
o 21 P23

12w & 21

Question Number : 41 Question Id : 813561521 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the radius of a sphere 1s mentioned as 7 m with an error of 0.02 m then the approximate error in
calculating its volume 13

8 fivo TG0 7 otxrr EBy. & o Ewidciod” it 0.02 &, five
RVBArHANE’ Garano) BD) sk ?

Options:

. % 1.831 m3

o 2257 m?3

a0
3 % 439 m

4 3.92r m?3

Question Number : 42 Question Id : 813561522 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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X
The function of f(x) = |x| + u 1s
X

HA0oDA f(x) = |x| + %

Options:
continuous at the origin

5§ SrODEIRY) DG DI A0

discontinuous at the origin because |x| 1s discontinuous there

,  Sr0R0cR 3¢ 1] DDB) 3w S Moot 56 f(x) DDyD) A

: \ o & - .
discontinuous at the origin because — 1s discontinuous there
X

|x]|

2070 G — DB B0 P JrwdocdR) 3¢ f(x) DDyD) 2w

3. o

Rl = x| s
discontinuous at the origin because both |x| and —are discontinuous are

|x]

x| SoBatny —en woaomq)ag maala» 5°)R redotied) bg f(x) mman

4, X

Question Number : 43 Question Id : 813561523 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If A 1s a Skew-symmetric matrix then (given n € N):
T | : :
(1) A" 1s Skew-symmetric matrix

(1) 42"t is Skew-symmetric matrix

A 28 38 JPH 3°3E oS, VDD N EN ©
(i) A% D D 2088

(D) A o9 RS 2038

Options:
(1) 1s True, (11) 1s False
_— (1) Q20, (11) e:)a;jgap

Both (1) & (11) are True
> % (1) 0803 (11) SrE D1SeD

Both (1) & (11) are False

(1) S0BA3L (11) SOt SIS0
3. @

(1) 1s False. (11) 1s True
n (1) G2, (i1) D2

Question Number : 44 Question Id : 813561524 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Question Number : 45 Question Id : 813561525 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If Q 1s the mverse of A. when A =

Options:
1.% -

10X Q =

and 10X Q =

208080 A TGS DA ( WAV, X =

AP EAMCET 2020
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Question Number : 46 Question Id : 813561526 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If a, b, ¢ are in Arithmetic Progression (A.P.). then the roots of the equation ax? — 2bx + ¢ = 0 are

0,b,c 0 ©og3A8" G0, ax’ - 2bx + ¢ = 0 0RLCRAN TN, JFOI

Options:

Question Number : 47 Question Id : 813561527 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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The equation of the transverse axis of hyperbola (x —3)? + (y + 1)? = (4x + 3y)? is

(x=3)2+(y+1)* = (4x + 3y)? BE{EIS o AV o8, HASGRD

Options:
- 3x +4y =13

> o 3x —4y =13

3 % 4x —3y =13

4 % 3x —4y =9

Question Number : 48 Question Id : 813561528 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What 1s the value of x if the mean of 8,6,7,5, xand 41s7 ?

8,6,7,5, x 803 4 & DTTN0 7 900, X e dudod.

Options:
R E

2. v 12
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Question Number : 49 Question Id : 813561529 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two u and v are parallel if and only if

U 00050 ¥ 00 DA DArodbo AD{OEI BTSN, DT[N A0DAVDN

Options:
u and v have the same direction
U SO00D ¥ e 28 &F DAFeD

1. %

u and v have the opposite direction
U 08050 v a0 S(E0 &F DO

2. %

One of them is a scalar multiple of the other

, , WSROI OBIS Lo RoEE VOF SeA

The dot product of u and v are Zero

U, VO TR wa?sa»
4, ® “

Question Number : 50 Question Id : 813561530 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
n/4
J (tan® x + tan* x) dx =

0

Options:
)

1, %

AP EAMCET 2020 _
collegedunia:s

India’s largest Student Review Platform

el



AP EAMCET 2020

Question Number : 51 Question Id : 813561531 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For how many values a € C, the equations x> — 8x + 7 = 0 and x* — 2ax + 49 = 0 have a common
root’

x2—8x+7=0.x% - 2ax +49 = 0 HOEEHANVL eméd AP0 GoG. a a8 HIV1J)
Faoa_aé

Options:

Question Number : 52 Question Id : 813561532 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the normal to the circle x 4+ y* = 16 at the point (

(’" “) Dockoid) 38 17 + % = 16 58 o ©Deow 5 PRCrIW

X 3
V3'y3
Options:
x+y=0
1a ™ )
V3
B — e
3y - ] 4
x—y=20
3.v ;
L,V
x+y=—]
4.% 4

,%) 1S

&l-

Question Number : 53 Question Id : 813561533 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If mand n are the least and greatest values of |z| respectively and |z — 4 + 3i| < 1. Let k be the

yxt+4

least value of
X

m, 1 Q0 ST [z| dog), $8y, A0 D050 8050 |2 — 4+ 3i] = 1 & z Ardaed. (0, )

4,.2

X Hxc+4
90BG30¢"
X
Options:
1.¢ "

on the interval (0, ). Then k =

aIs) s:a:g Q0 k eoand, k =

AP EAMCET 2020
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m

m-+n

, 1Mn
e

Question Number : 54 Question Id : 813561534 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The co-ordinates of focus of the parabola 5x% = —12y are

5x% = —12y DOPHLOIEAS T°D AEFIHTLD

Options:

1. %
L (20)
L (02)

Question Number : 55 Question Id : 813561535 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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If a, B are the roots of x? — 2x + 4 = 0. for n € N. what is the value of a™ + B"

2 -2r+4=0% af w droswe. n € N eas, a" + " =

Options:
ont2 oo (%)

1%

2% cos (H)
2. .

2+ ¢os (E)
3. s

nm
2"*+2 0os (—)
4. % "

AP EAMCET 2020

Question Number : 56 Question Id : 813561536 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the general solution of * sin x + sin 2x + sin 3x = cos x + cos 2x + cos 3x

sinx + sin 2x + sin3x = cos x + cos 2x + 08 3% VASBEANE) 5“(55@5 F O

C s ey == e
8

Options:
2T N
2nm + f
1, % 3
2w nn
2. % 3

= e
+8 n

AP EAMCET 2020
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Question Number : 57 Question Id : 813561537 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A straight line L passing through A(3,1) meets the coordinate axes at P and @ such that its distance

from the origin 0 1s maximum. Then area of AOPQ 15 sq, units

A(3,1) Dotddey) Mot ‘.'J‘ml 28 WOV B Ly, oo P Ldodw Q © 36 DG B.
rododdd) Ao Ly € o Gr6aw A8 B, APQ GHal) PToEn 66

OV UNUINE

Options:
100
1.% 3

2. %

3.+

AP EAMCET 2020
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Question Number : 58 Question Id : 813561538 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A speaks truth m 20% of the cases and B in 80% of the cases, Find the probability that their statements
about an incident do not match,

20% Rotsomy 06" A 3080 80% RodomyuS” B dzo SMRETD. 28 0010 HBot) I By

ARV 20000 DBBBC=S RO

Options:
3
1.8 =3
7
25

Question Number : 59 Question Id : 813561539 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the roots of the given equation (cosp — 1)x* + (cosp)x + sin p = 0 are real. then

(cosp — 1)x% + (cosp)x + sinp = 0 & L0800 TS ROV VAR, B

Options:

. p € (—m,0)
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Question Number : 60 Question Id : 813561540 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If f 1s integrable on [0, a]. then the function h defined on [0,a] as h(x) = Vx €[0,a] is integrable
on [0, a]

[0,0] 2 f %drgudaisn Sbako Y e [0,a] & h(x) = ___ DY, h(x) darsudapa.
Options:

L fa-x

, u Fx=2)

L x FOO

Question Number : 61 Question Id : 813561541 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The equations of lines passing through (5, 3) and perpendicularto 2x + y =7 =01s

(5,3) Do) Moot Fdr. 21 +y — 7 = 0 B Votsol &od 8 DNEGHMO

Options:
Y —K—2Z2 =9
® =

2¥2y—x+2=0
3ﬁx+y—8:o
4J2v—x—1=

Question Number : 62 Question Id : 813561542 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

K
f(\rr}; - w‘?)z s §
0

Options:

kz
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Question Number : 63 Question Id : 813561543 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the minimum radius of the circle which is orthogonal to both the circles x% + y* + 4x +3 =0
andx? +y?-12x+35=0

4y 4+ 3= 0 2000w 1 + 7 - 120 4 35 = 0 500 vowd\BRo B0 T8 o
S0 TG

Options:

Question Number : 64 Question Id : 813561544 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let u and v be two nonzero vectors. if |u + v| = |u — v| then

U, v e Bodd %\r3§e36 POV |u + V| = lu — V] ®ond
Options:

AP EAMCET 2020 -
e collegedunia:

India’s largest Student Review Platform

el



AP EAMCET 2020

u and v have the same direction
U,V IS°DF DOFD

1« =

u and v are perpendicular

, g U, VO 08 TS HONSE) LoLrAw

u and v have the opposite direction

u,ven ;55@65 O3VHF
3. %

Data Insufficient

4% AT BRV0IPG0

Question Number : 65 Question Id : 813561545 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The unit vectors orthogonal to 31 42 + 6 k and coplanar with 21 +  + kand i - i+ k are

20474k 1-7 + kootws vedavasr. 31 +2] +6k & QOB AP DAV
BUDG.

Options:

§ oo osm o
iﬁ(Zi — k)

* M

1
38 P8
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Question Number : 66 Question Id : 813561546 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the sum of the slopes of the lines given by 4x® + 2Axy — 7y? = 0 is equal to the product of the
slopes. then 4 15 equal to

4c® + 2y = Ty* = 0 2rdoid Bavw 0w ddw T8 vl DArINS. 1 =

Options:

Question Number : 67 Question Id : 813561547 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

10001 x 100!
2X 11 +5%x2'4+10% 3!+ -+ 10001 x 100!

Options:
1001

1100

1. %
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10001
, » 10100

101
110

100001
4 % 101000

Question Number : 68 Question Id : 813561548 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

jex"z (2+s1n.1‘) —
1+ cosx

Options:

- 2e*/? cosec(x/2) + ¢

5 o 2e*/2tan(x/2) 4 ¢

5 % 2e*/2 cos(x/2) + ¢

. 2e*? sin(x/2) + ¢

Question Number : 69 Question Id : 813561549 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

1 1 i
[ [ngl’ ~ (log ..1")2‘ .

Options:

| % xlogx + ¢

g logx + ¢

log x

+C

Question Number : 70 Question Id : 813561550 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The crew of an 8-oar boat 15 to be chosen from 12 men. of whom 3 can row on the stroke side only.
The number of ways mn which the crew can be arranged 1s

-8 $DAD 0% SIS 2408 12 o) Aod DoEIIT. oY Snrbdd(3) gé )
S 3 Bobrivdd. o 2608 ©26y1DD exdsw Rog ___

Options:

%, % x 3 dl

1. %

. €, x°C, x 41 x 4!
2- .
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5 o 8C3><3(]3x4! X 3!

9 9
L x CaX’Coxatx4

Question Number : 71 Question Id : 813561551 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

sin x 1—rcosx

Let f(x) =Tan™* (1 i COSI) cg(x) = Tan‘l( e ) ‘then [( f(x) +g(x)) dx =

(=T _1(1+cosx)m6m (=T _1( sin X ) f‘ﬁf((H (J)d
X)= 1t x) =1 oo, | (f(x x)) dx =
fG = Sin X i o 1—-cosx 'fl Bx0L 9
Options:
X 2
1 % 2 4
i
nx ——
2. 2
.
RX -+
3. %
a2
o
4, % 5

Question Number : 72 Question Id : 813561552 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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The tangent at the point (1, 2) to the curve y® = 4x makes an angle 6 with the positive direction of
x-axis, Then 6 =

y? = dx S8 56 o )6\ x-082) ¢ 638 6 Endw B, eyl 6 =

Options:
60°

1. %

Question Number : 73 Question Id : 813561553 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If A(2,-3) and B(—2, 1) are two vertices of a triangle ABC and if the centroid of AABC lies on the
line 2x + 3y = 1. then the locus of vertex C of AABC s equal to

8 Soun ABC Bot Few A(2,-3), B(-2,1) dvdaty &8 Sonn Sogeran 2v + 3y =1

5 2090 D Gotd 36300 € g, Dodoides eSO

Options:
1R 2x+3y =5
) & 2x +3y =9

3 % 3x+2y =5
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L% 3x+2y=9

Question Number : 74 Question Id : 813561554 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The pair of straight lines represented by the equation 3dx?® + 5xy + (d? — 2)y? = 0. If the lines are
perpendicular to each other. for how many values of d this condition will be satisfied?

3dx? 451y + (d - 2)y? = 0 dasorin o ey wSmIESE) voniw ed| A
GockriBiier d 8 ) Devden e’

Options:
0

1.%

Question Number : 75 Question Id : 813561555 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

, . .
The solution of x — = v(logy —logx +1)1s

dx
d :
X -&% = y(logy — logx + 1) ©93%0d HDECETIS F6d
Options:
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y =xe™*

Vo =cx

yv? = cxlog(x)

3. ¥

4,

o log(y) = cx

AP EAMCET 2020

Question Number : 76 Question Id : 813561556 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The co-ordinates of the focus of the parabola (x + 3)? = 2(y — 5) 1s

(x + 3)? = 2(y — 5) HO°HLODY) T AEFHS

Options:

Question Number : 77 Question Id : 813561557 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the slope of the line ax + (3 —a)y + 7 = 0 is 7 then the value of integral part of ‘a’ is

ax+(3—a)y+7 =008 awg), T 7 ©ad. ‘@’ GE), YTos ) BUdoG.

Options:

R

3. % 05

5 % BB

Question Number : 78 Question Id : 813561558 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A and B are two candidates seeking admission in a college. The probability that A 1s selected 15 0.7
and the probability that exactly one of them 1s selected is 0.6 . Find the probability that B 1s selected.

A B o 00 3% §0 50288 D76, A 029 TocskrdS Rowrdyd 0.7 2080k 186" 8 6

g )2 Josers Roerd 0.6. 6and, B 6619 JoerRs oS dod?

Options:

, u 015

, % 628

, o028
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. 0.30

Question Number : 79 Question Id : 813561559 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A point in the domain that cannot be filled in so that the resulting function 1s continuous is called

w8 BRFSANS" DS HIoasren BND) A BXEIS DA DoPH) 906

Options:

Removable Discontinuity
DoooiecEne m&‘:‘"&m’

Non- Removable Discontinuity

5 o SADADWES IR

Impossible Discontinuity
O [R00R) DD B

Irrelevant Discontinuity
 R066) DYDY B

Question Number : 80 Question Id : 813561560 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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3
Let A, B and C be three angles of a triangle ABC such that cos A + cos B + cosC = 5 then

the triangle ABC 1s

3
A, B,C o ABC §zoadne’d Staeren, &80k cos4 + cos B + cos € = > 00, ¢

SZBAD w8

Options:
Equilateral

| RBETIR GBI

Right angled

5 % 0028t B2

Isosceles but not equilateral

L, PO S ROV GEORDN T

Scalene
o VLTIV HZV2AW

Physics
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
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Mark As Answered Required? : Yes

Question Number : 81 Question Id : 813561561 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A charge g C moving i a circle of radius ‘r* m makes n revolutions per second. Magnetic

field at the centre of the circle 15

‘r'm 35&3m (0 SyBa0S" g C 8530 VS N BT BOX. Soaw 56 D0\G

030 088 ZSS0
Options:
21q e s <
—x 1077 N.amp~t.m™?!
. N
1. *
2m = > =
%10 "N.amp .m™
r
7 ®
2mng _ " -
— X 1077 N.amp™'.m™!
3. !
21q =~ =
— N.amp l.m™!
4.% T

Question Number : 82 Question Id : 813561562 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The electric potential on the surface of a charged spherical conductor of radius 5 cm 15 200 V.
Work done m moving a charge of +5 C from a point A to another pomnt B situated at distances
of 15 cm and 10 ¢m respectively from the centre of the sphere is

DeBEGR B 5 em TG0 0 w8 Avse6 irsan eDBBVAND AE(S T
200 V. A 208050 B Docioa)en 8 HY Soan Aod SR 15 cm 80k 10 em drored’
&) ). Dothdx) A Aot oo B & +5C D@Fbﬂ}l 2ODEPAS BONIVAN D

Options:
1 % 16.7 ]

, % 22.3]
s % 88817

4 v 16671

Question Number : 83 Question Id : 813561563 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following statements 1s correct regarding photoelectric effect?

1. The electrons are enutted if emutting surface 15 at high temperature.

|

. Photoemission occurs if wavelength is less than a critical value.

. The K.E. of photoelectrons 1s proportional to the square of the amplitude of incident radiation,

L A

4. The photoelectric current is proportional to the frequency of incident radiation.

508 S DTS Woerolot) & S0 TS AB WO BOND VAV0?

—_—

- D% S G0 I8 S G YYEr JFTE DR

-2

: ‘r’eaﬁg D0 S0t Bors ggﬁan DRI B9 GR) T ol &ﬁﬁfm DGJG.J&)

28 363G’ 1 508 QUSO8 SR HOWS IS GRS SrFSANE" Gotd

T al

4. 5700 DS DI DAY DG A0y, TLY(IS G Ao e 63

Options:

1.?"'sl

()

Question Number : 84 Question Id : 813561564 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A light meter rod has two-point masses each of 2 kg fixed at its ends. If the system rotates
about its centre of mass with an angular speed of 0.5 rad. s ™. its rotational K E. is

8939 iy FErAS Dot D36w 2kg © N0 G030 Domrd. & 358 05 rad.s™
Sranads B30 F8ogio ol ForTen B, T e 3284

Options:

- 0.125 erg

5 % 1.25 erg

P -

4 o DIEST

Question Number : 85 Question Id : 813561565 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If By is the magnetic field induction at a point on the axis of a circular coil of radius R situated at a

distance Ry3 and B, is the magnetic field at the center of the coil. then the ratio of B_l 1s equal to
2

R 630 0 28 S50 8 o oo ot RV3 droaws’ &d) oabed £8:w By

B
258080 & Bt oS3 GG LD 08 EG0 B, o8, j 608, Devd
2

Options:
1
1.8 3

1
2.« 8
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Question Number : 86 Question Id : 813561566 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two opposite and equal charges each of magnitude 4 X 1078 € form a dipole. Their separation
15 2 X 1072 em. When this dipole is placed in an external electric field 4 X 10® N.C ™2, the value
of maximum torque and the work done in rotating it through 180 respectively, will be

X107 C e DOArmr HBakw 2 X 107 om Grdin & 6 Saded Soth vdTLS w
B30 A\ESGAB. TR 4 X 10°N.C™ 0 Do S8308" oty T HASako Aidiy
e, 2080 G 180" Etaod Zidvrao Borvociotis BasodBvY 1R Denden SR

Options:
, x 64 X107*N.m & 64 x107*J

5 i 32 %10 Nm & 32 x107%]

; % 64 X107*N.m & 32 x107*]

4 032X107*N.m & 64 x107*J

Question Number : 87 Question Id : 813561567 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

adbes L 1 . .
To estimate ‘g’ from g = 4n° 77 + GITOr inl measurement of L 1s + 2 % and error in measurement

of T 1s +3 % . The error m estimated ‘g’ will be

L
L §sd" 8w £2%, T S086" B30 +3 % wowd, g = 4n° = 0giw Aol °g
0BT DOV’ B0

Options:
1. v 8%

PR ._+_5':Vﬂ
3, % £3%

4. % T6%

Question Number : 88 Question Id : 813561568 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The coefficient of viscosity of an ideal fhud is

2,8 360y BB f’oclgw (EIS D

Options:
equal to 1
205838 AT

1, %

Z€10

5 & %\Pbs.m.)
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infinite

3 % ©R0BIW

greater than 1
2088 808 D&i)bi‘)

Question Number : 89 Question Id : 813561569 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Five pomnt charges 1 i 2/ T 3/ - ,4/ rand “5/ r nano-Coulomb are located mnside a pyramud.
The total electric thux through the surface of the pyramid 1s

900 Dot DT D@gwé?w 1/n ,2/;; ,3/ i ,4/ T ,'5/ T TR-0Rr08) 28 &
&5’ &a“lm) DOE GDOBVAN Aol a&aa RV IV 3@563 9T TN
Options:

1 « 180 N. m2.C™1

, % 90 N.m*.c™?

3 u 55 Nm*.Cc™*

5 N.m2.C™1

4. %

Question Number : 90 Question Id : 813561570 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Assuming that the junction diode 1s ideal, the current in the arrangement shown is

A0 oB EOITE T Gaerrdr, Sof 0920058 3::50505 DTETE0 S ot

100 Q

3V [ | 1V

Options:
1 % 2 mA

, » 20mA
3 % 30mA

, » 10mA

Question Number : 91 Question Id : 813561571 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A force F 1s needed to break a copper wire having radius R. The force needed to break a copper

wire of radius 2R will be

;:1'*53"2:11) R ¢ o Sid) 5208) 20 OGS T IV Lo F. wowd J5é°gan 2R o

o°h ) 3008) B00EAS TPHVNY W

Options:

AP EAMCET 2020 )
collegedunia:s
India’s largest Student Review Platform

el



AP EAMCET 2020

Question Number : 92 Question Id : 813561572 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

300 g of water at 25 °C 15 added to 100 g of 1ce at 0 °C. The find temperature of mixture will be

25°C 56 &) 300 B 0°C 56 63) 100 g owe) &Y. 000 P egoam $808) od.

Options:

1. % r iR &

2.V 0°C

3 % 12.5°C

4. % 30°C

Question Number : 93 Question Id : 813561573 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The kinetic energy of a body is increased by 4 times. Its momentum will

28 SR (AB23S 4 0L NS, T B Hidw

Options:

1.¢

AP EAMCET 2020 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAMCET 2020

mcrease twice
Cot &M

increase four times

, % RO BRMR

decrease twice
DTS S

3. %

remains constant
4 % SEE

Question Number : 94 Question Id : 813561574 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When a player throws a ball. it reaches the other player in 4 seconds. If the height of each
player is 1.8 m, the maximum height attamed by the ball above the ground 13

18m d80 &) RE0 SLTHNY" 2,8 BLMD WoS DIBIYYE BB Tottd BT

4 25008 3008, o Zra Aow) & Lod BB (8L IV Jod?

Options:
1 % 19.4m

, w 20.4m

3 ¢ 21.4m

4 % 22.4m
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Question Number : 95 Question Id : 813561575 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When the temperature difference between the source and sink icreases, the efficiency of the
heat engine

agaomn 208050 FBer0DIVY 36y agﬁga B30 DOADYE 632 oG Ts),
AL

Options:
Decreases
Ao

8]

Increases

, o DO

1s not affected

3 % DTS T

may increase or decrease
bﬁﬁblﬁ){) oo @ﬁ:)lﬁ)')
]

Question Number : 96 Question Id : 813561576 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The V — I graph for a conductor at temperature T; and T, are as shown 1n the figure. T, — T,
1s proportional to

T; $0Ba50 T, 36 w8 Tirgin o) V — 1 000 drdnds. T, — Ty 328
908" AP BZMT Gotod?

Options:
cos 26

1. %

5 sin 26
3 o COt 26

4 % tan 26

Question Number : 97 Question Id : 813561577 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A bullet strikes against a wooden block and 1s embedded in it. the nature of collision 1s:

8 B8 B820) 6’V 8 WP ErdTaed. 88 Jwdet BdNrde?
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Elastic
AT HE
@ ©

1.8

Perfectly mnelastic

- Slete) e ugagos

Inelastic

AT DE
3.8 @ O

Perfectly elastic

T DBLRFG DAF DS

AP EAMCET 2020

Question Number : 98 Question Id : 813561578 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Three blocks of masses 700 g, 500 g and 400 g, suspended at the end of a spring as shown mn the
figure, are in equilibrium. When the 700 g block 1s removed, the system has a period of oscillations
of 3 5. If both 700 g and 500 g blocks are removed, the period of oscillation becomes

700 g, 500 g S08ako 400 g @(o8uen ffo B2 VR a8 VoS, P DS PR DT
S AT, ) I3\ ;p:aa SOOI D. AW ’g@eﬁ‘ 6R) Y 00é 700 g LR
AR 3 280w ¢ SOANS © SIS Eomren Baod. wEav 700 g S0dako 500 g

62060 Bocot3a) 83304 ©ONB & S5 8363 SV ods?

Options:

1@,@15

2@/,23

3&33

123
'\’ 5
%

4.

Question Number : 99 Question Id : 813561579 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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The distance between the successive node and antinode 1s

DAV BRVOBR, VVYOGR DotPHV DG GGo

Options:
A

1. %

A
2

Question Number : 100 Question Id : 813561580 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A prism (i = 1.5) has the refracting angle of 30°. The deviation of a monochromatic ray incident

normally on its one surface will be. (Given sin 48° 36’ = 0.75)

28 DRSAD (i = 1.5) 0a0e) 5828:5% S 30° DRSS w8 SVAVY :)s:)g 508 V0LAVT

DAVN TR VI (sin48°36' = 0.75)

Options:

;o 18°86

5 u 22°98
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18°

4 u 222

Question Number : 101 Question Id : 813561581 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A balloon of mass ‘M" descends with an acceleration ‘a’,(< g). What mass need to be removed

from the balloon so that it starts ascending with acceleration ‘a’?

B3T3 M 0 SRS 300 “a’(< g) & B3 DB B. Brd “a” SBnAnd P
Ayrvo) T Aot dod G(O3 SVDaLrY?

Options:
ZM
1. = (a+g)

2Ma

ZMa
3 ® (a_g)

2Ma

4 x G=9)

Question Number : 102 Question Id : 813561582 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

AP EAMCET 2020 _
collegedunia:s

India’s largest Student Review Platform

Orientation : Vertical

el



AP EAMCET 2020

On a smooth mclined plane, a mass M 1s attached between two massless springs of force constant
k each, as shown in the figure. The other ends of the springs are fixed to firm supports. The period
of oscillation of the mass M 1s

28 )~ T BUAD M G0 (0 SN Botd) ()& BTFTY 6 k zav%wns"w
(10 Dorbed, Do’ risd e DI, & Vot GO DB Eotd, ¢
DY) AINE); BIGR STVN B

Options:

Question Number : 103 Question Id : 813561583 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A Fraunhofer diffraction pattern due to a narrow slit is obtamed on a screen placed at a distance
D from the slit whose sht width 1s ‘a’. The distance of first secondary maximum from the central
Maximum 13

Dékeny “a’ (10 99) D DB ool D (ot B8R FSF06 D6 Lr{ran M6yEs8.
So@o (BN dvod. A0EE ' BN Gr6A

Options:
3DA

.8 &

3DA

2 2a

Question Number : 104 Question Id : 813561584 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

238

: T ; y e . : . 206
In the Uranum radioactive series. the mitial nucleus 1s 92U:ancl final nucleus 15 Bsz. When the

Urantum nucleus decays to Lead. the number of « particles emitted 1s and the number
of f particles emitted 1s

238 206

03080abaY aivg), SAairerdys 6" Froers Sodsan gl 005 wody Sossn ¢,Ph

T &) 8. 0503A0DAN Sosa DB T D0 Bodd, Deode 0l a Bk f Serew
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6,8
2.v 8,6
16,6

i u D20

Question Number : 105 Question Id : 813561585 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A machine which 1s 70% efficient raises a 10 kg body through a certain distance and spends 100 J
energy. The body 1s then released. On reaching the ground, the kinetic energy of the body will be

$88 70% (0 28 0o, 28 10 kg S0 Eod Grdan e’ 100 J $8 DA Aowd
S0, 8) ¢ Ao, SRP0 AT SIS 08 Zrdod B8P ol (1288

Options:
0J

1
7017

u

3517

Question Number : 106 Question Id : 813561586 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

The temperature of a body 1s measured both m °C and °F. A graph 1s plotted with °F on x-axis
and °C on y-axis. Then the cosine of angle between the graph and the x-axis 1s

8 SR 660 2By00% [°C ] Bosoo [°F ] Bocéhe'so §80) [F] ey x-eogam D
8o [°C ] &8 y-e5aw o6 SR0ED D A, & D £ S0ai) x-u5aws W
Stadw aIg), §2D Deoid dodh?

Options:
1.% 0

4 V106

Question Number : 107 Question Id : 813561587 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the raw egg and boiled egg are subjected to spin on a table by applying the equal torque. then
the egg that spins with the greater speed 15

SONDED, GESBED HEovp w8 Erf), HAIrAod AGAT™ BYT, &, H68 361 e J8?

Options:
raw egg

1w O0E
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boiled egg

, o GESBOD D

Both eggs have equal speed

5 COGF ABD SHeoud Sdrerow

Both eggs never spin

4w 00GT B66D

Question Number : 108 Question Id : 813561588 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A swimmer can swim 1n still water with speed ‘v" and the river flowing with velocity v/2. To cross
the river i shortest time. he should swim making angle ‘6" with the upstream. What 1s the ratio of
the time taken to swim across in the shortest time to that in swimming across over shortest distance?

w8 i Qsdrr ) S v 38 & HBHVED, B DT A0 v/2. HO d ©d LR
S0A08’ TOEAS DIrAHS’ 0" Snin SAr SEST. B TLES 1 0d 3.3
SOANE DO B IS Gra0 DOIreoie8 DR SVAY 3:13@

Options:
1 % cos0

3 sin @

4 % tanf
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Question Number : 109 Question Id : 813561589 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A sound source is moving towards a stationary listener with 1/10" of the speed of sound, The
ratio of apparent to real frequency is

B 29520 HOZVTRD) 830D 61D SrAe’ 103 Dodd Hiod HeLVR) 8.
o3, ¢y8] B A TRRYT(L A =
Options:

10

11
2 % 10

Question Number : 110 Question Id : 813561590 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Electromagnetic waves are produced by

DECADI7, 0 BSSTOVR GEHS BID

Options:
Charges at rest only

:)%Qv e DT AT
1™
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Changes i uniform motion only

|y D508 (10208" &) udTen Hrdd

Accelerated or decelerated charges only

3 S(Ge30 Dol TT™ DEIS(Ges0 BodR BIT W TP

An uncharged stable particle at rest

2 SR T, Do”S0eS” &) 3{3-:5 €030

Question Number : 111 Question Id : 813561591 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A solid cylinder of mass M and radius R rolls on a flat surface. Its moment of inertia about the
line of contact 1s

gogod M, msﬁ‘ga‘m R 10 25 20R0RPDD 28 DBV G008, VG, B

DO TR BESEPVSAN

Options:
3

(3) mr2
2

), # ME’

1.

4 % 2MR?
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Question Number : 112 Question Id : 813561592 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A bomb at rest explodes into three parts of equal mass. If the momentum of two parts are
—2pi and pJ . find the magnitude of momentum of the third part.

DTS &) w8 eroen HY, JrEd VAT GITHOW (1 SV BANIA.
TS’ Bot) Gdmen —2p i HBAY pj LAY, AP ErriBw GIFHMAD dWE)
D080 Bwdod..

Options:
1.5 P

2. % V3p

3. V5p

Question Number : 113 Question Id : 813561593 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The second line of Balmer series has wavelength 4861 A. The wavelength of the first line of
Balmer series 13

306 336" Doctid 82 S6ors PGS 4861 A. 06 3636° e G 30ori3go Jod?

Options:

% 1216 A
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, » 6563 A
_ 4340 A
3. %

, % 41014

Question Number : 114 Question Id : 813561594 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What 1s the phase difference between the flux linked with a coil rotating 1n a magnetic field.
and the induced e.m. f. produced i 1t?

8 GO 08 FBING" SRR S’ BDTIEA0 MO HOE IRET VS LWLV
06 GF B

Options:
0

1, %

Sk

Question Number : 115 Question Id : 813561595 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A coil of inductance L 1s divided in to four equal parts and all the parts are connected in parallel.
The effective mductance of the combination 1s

L 9658w (0 2,8 énmegm TV DLOTPTTUNT B0, € TP DTodES0T

D, Lo, & Swons dng) HOY HOSSEL BeY.

Options:

Question Number : 116 Question Id : 813561596 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When a pure resistor is connected to an AC source, the phase difference between the voltage
and the current through the resistor 13

(000 28 AT AC 2578 DDA A T(or DIPodd DGO,
Sgad 6| STHE

Options:
1.% 90°
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Question Number : 117 Question Id : 813561597 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The capacitance of a spherical condenser 1s 1 uF. If the spacing between the two spheres 1s
1 mm, the radius of the outer sphere is

w8 (w0 Soldyth awe) SOy 1 uF. &rd Aivee) S Grsan 1mim eand, erix
GEAW a'*‘g:}’ga» Do’

Options:
1 % 30em

2, % 6m
3 % 5cm

4 & 3M

Question Number : 118 Question Id : 813561598 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A straight wire carrying current ‘i ' 1s turned into a circular loop. If the magnitude of magnetic
moment associated with it in M. K. S. units 1s M, the length of wire will be

17 DS DITROD) w8 8R) D 8 HTTC UrYT Sr6\EB. M.K.S. pirmred’ ol

AP EAMCET 2020

ONRF) 08 EPuSo DA M B0nd, &8 3 Tt dod?

Options:

| % 4miM

Question Number : 119 Question Id : 813561599 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two water pipes of diameters 2 cm and 4 cm are separately connected to a main supply line.
The velocity of flow of water in the pipe of 2 cm diameter is

2 cm 208080 4 cm TR0 0 Boc) A FEPORL BT 28 D 60T FEPAS

D, 2 em TR (o) AR08’ HSiroid O Stfedw

Options:

4 times that i the other pipe
Oocisd Heuaanes” Sotd 4 Bew
- o
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i . ;
- fumes that in the other pipe

Bocid Feanes* %— 25800

2 times that in the other pipe
Socisd 00" Sot3 2 B

. . :
- times that in the other pipe

Boctsd Fersanes” % 252800
4, % -

Question Number : 120 Question Id : 813561600 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A body 1s projected vertically upwards from the surface of a planet of radius R, with a

velocity equal to half the escape velocity of that planet. Then. the maximum height attained
by the body 15

w8 SRV R :5'*53"%&1) (B0 W8 ($PA0 BRAN Aok, &8 HirSn DUPADADAaNS” Wi
38008, AP 23 HEDAN BIW. LYW, &8 HR0Y BEED 1B I

Options:
R

1.¢ 3

Nl:::::

& | =
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R

4% 5
Chemistry

Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required?: Yes

Question Number : 121 Question Id : 813561601 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Presence of which of the following 1s suitable for the synthesis of bromobenzene from
benzene diazonium salts?

BoE G D& 0D VIETY Aok, &5 AT BoBD K WoFtLL $0dHTY” BY/DE
&S & ¢y od?

Options:
1. 8 HBr

5 % MgBr,HBr
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3 Cu,Br;, HBr

Question Number : 122 Question Id : 813561602 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which statement 1s incorrect regarding Hall-Heroult process for metallurgy of aluminum?

I. Use of NasAlF; lowers the melting point of Al,0,

-2

Steel vessel with lining of carbon acts as cathode

l'“‘,_,

Graphite 1s used as anode

4. Carbon dioxide gas 15 generated at cathode

es-wsaonoma» ey iy, Beaosd eﬁvgﬁoé 5 oY agaé 000800 I8 08 5°C?

1. NasAlF, &H@r6a0 S8 Al0, 3559 0 B0

1o

56y® PRl (0 6 §'Y SHE m O SR

PJ_‘

TRt 836 ™ EHArAGS08

4. TBE 5 56)S & 636 TAY DI

Options:
|

()

2. %
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Question Number : 123 Question Id : 813561603 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The artificial sweetener sucralose 1s

€190 HD SEEAD LSS w8

Options:

Hexachloro derivative of sucrose

ES &) rs\58 &Y S0
meu dﬂn&.r?:h ae:bbl

Trichloro derivative of sucrose

i RAES g, BET s D) S

Pentachloro derivative of sucrose
REE g DotrET e D) AW

3, %

Tetrachloro derivative of sucrose
RAEH ciwg), SErET e D) aw

4. %

Question Number : 124 Question Id : 813561604 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following is a neurologically active drug?

208 T&S° TE Dotod BT HDIBOLL B0t DB?
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Analgesic
L]
@ NIV

Antacid
, x B DO
Antibiotic
3 % Cirotlecires

Antihistamine

4 % CIFoBrRD

Question Number : 125 Question Id : 813561605 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the density of an aqueous solution of K1 if its molarity and molality are 1.44 M and

1.5mol.kg ™! respectively.

K1 2ogranoe oing) 2werdt) dabo awerden Hhirr 1.44 M &dai 1.5 mol.kg™
©0Nd, TR Fold dodh?

Options:

- 220 gLt

—
L 4 2501

-3
. 120gL

-1
. 0.50 gL
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Question Number : 126 Question Id : 813561606 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following represents Schrodinger wave equation?

208T°D¢5° T'Rord Bbor DAEGI DA?

Options:
d>y d*y d%*yY 4mm

+ L~ (E-v)Y=0

dx? dy? dz?

1 &
= h ( d? d?

5 % H ™ 4m2m \dx2 dy? dz?
—~ _hZ dE dZ
i gas ( = e e

3 % 8m“m \dx dy dz

Question Number : 127 Question Id : 813561607 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Number of hydrogen atoms in the given compound is

06 DR FHINS® PESD DOATTDYHL Doy

Options:
1 % 10

> « 12

3. % 14

u 16

Question Number : 128 Question Id : 813561608 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Identify the products formed when chlorine reacts with cold and dilute sodm hydroxide solution

599 D03 Féabo PEa\ES §65 o) Teddtpw Doy &8y 0o Motsed

Options:

. » NaCl, NaCloz, H,0

,  NacCl, Naclo,, H,0

. o NaCl, NaOCl, H,0
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, » NaCl, HCl, H,0

Question Number : 129 Question Id : 813561609 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The product formed when formaldehyde reacts with ammonia 1s

Fom) O é, 02 Jord 56 ToBDDE 0BT S’ NAT YA

Options:
Melamine
1 % SOVDD

Formic acid

3‘6&‘3"&)::
2. % -

Ammonium formate

907 Daddo I°0) &5
3. % e

Urotropine

it 0O e D0

Question Number : 130 Question Id : 813561610 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Choose the alkali metal with highest reactivity among the following

& 08 TS B3(6S acvséua $DACILD) ¥6 &0 DB?
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Options:

100 R

Li
Na

. Rb

Question Number : 131 Question Id : 813561611 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

How many unpaired electrons will be present in the ground state of an atom which has valence
electronic configuration 3d® in its +3 oxidation state?

+3 u%fdea fg@eﬁ‘ 3d° VS DT[0 $08 Got a;b‘g“ané‘ & DOAPY) D) BAAPED

ATV &R Eotod

Options:

1.5"‘1
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Question Number : 132 Question Id : 813561612 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the molarity of NaOH solution prepared by dissolving 0.4 g of NaOH in enough
water to form 500ml of the solution.

0.4g NaOH % 8008 6 $82 500m! Grasdn Soird) Bh) @ & Grdein
2088 ridotiol.

Options:
1« 0.02

, % 0.05

5 % 0.04

4 % 0.03

Question Number : 133 Question Id : 813561613 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which among the following statements is incorrect for interstitial compounds’

1.

=

L

AP EAMCET 2020

a-;

They are very hard and rigid
They have higher melting point than pure metal
They do not show conductivity

They are chemically mert

O odT"Y W) YTV Dotobor) o T°63¢5° DA DB 90NIA 5 ?

Options:
|

1, %

[

r..J.J

3.v

4, ®

15

ro

LT

£92) SBDAVMT SVBAKD I oo
30g &' Sotd ) BDBID 0230 90 otran
DTGRP ES SOA Gokd)

95) GO DAVMT 2¢ :Jm“gw

Question Number : 134 Question Id : 813561614 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The magnetic property of NO, i1s

NO, G30E) 0D o G56), B0 DB?

Options:

AP EAMCET 2020
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4.

Ferro Magnetic
o] e}oda.ﬁ"boez’s

Diamagnetic
o> 90D, 0

Non-Magnetic
903 08 B

Paramagnetic
20" 903D 0

AP EAMCET 2020

Question Number : 135 Question Id : 813561615 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The number of 120°, Cl — P — Cl angles in phosphorus pentachloride are

FRy6R Dotr EBES” €l — P — (1 wosEeadon Dewsd 120° o) Erred A Gokron?

Options:

3
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Question Number : 136 Question Id : 813561616 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When a current of 0.5 A 1s passed for 2 hours through a molten metal salt. 3.88 g of the metal
was deposited. If atomic mass of the metal is 208 units. the oxidation state of the metal in
the salt is

0.5 4 DS IF) 2 flotw T 28 (R G'ir Ldo BT Dod 3.88 g © &0

DOYEAB. & "o DA EI0°3 208 0hr D e, V3RS’ &R0 e,
093,868 DO BVDC.,
@

Options:
1. +1

2w FS
3.8 13

4. %+

Question Number : 137 Question Id : 813561617 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the primary halide among the following compounds.

S0l TrOS” PO TFGE W MHBotSod..

Options:
1-bromo but-2-ene

i & DT° ear(e5-2-&
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4-bromo pent-2-ene
. 4-85"A0° Dot5-2-&D

2-bromo-2-methyl propane

i 2-25° A -2-03S T'Dd

t-butyl bromide

t-20(0¢ &6
4, ®

Question Number : 138 Question Id : 813561618 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A commercial sample of H,0, marked as 100 volume hydrogen peroxide means

w8 Triaf SrT Hy0, & 100 280835 S HoBE m MBI, & 83w

Options:
1 ml of H,0, will give 100 ml of O, at STP

- STP 56 1 ml H;0;,, 100 ml © 0; 0 ®008

1L of H,0, will give 100 ml of O, at STP

_ STP &6 1L H,0,, 100 ml & 0, & @208
2. %

1L of H,0, will give 22.4 L of O, at STP

STP &6 1L H,0,, 22.4 L © 0, 3 Q008
3. ¥ @ -

1 ml of H,0, will give 1 mole of O, at STP
4 x STP 36 1ml H,0,, 12356 0, & @9R008
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Question Number : 139 Question Id : 813561619 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

When 30 ml of H, reacts with 20 ml of 0, to form water. what is leftover when the
reaction ends?

30 ml Hy )8a50 20 ml 0, © 206§ 536§ 2058 D> Doydod. B e B6[ DL
DASE

Options:
3 10 ml H,

5ml H,

3 % 10 ml 0,

o, 5ml 0,

Question Number : 140 Question Id : 813561620 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The pK, of a weak acid. benzoic acid and pK), of a weak base. ammonium hydroxide are 4.25 and

4.75 respectively. Then, the pH of 0.1 M solution of ammonium benzoate will be

QPR B33 BONR o 0§ B0 PK, = 4.25 B0 LT T2 LI A7) Jodo

TES\ pKy = 475 wawd, 0.1 M ©dr)daje €08 005 gradeasdnn aOng), pH (iedocdod.
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;. = 710
, » 750
3 o 675

. 6.50

Question Number : 141 Question Id : 813561621 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What will be the product A in the reaction given below?

808 BO(S° &B1B) S50 A B BDE?

NH,
HCl
+ HNO, —— A + 2H,0
Options:
Phenol
1,8 STS

Benzene diazonimum salt

e, 302D CoNE DN AW

Benzene

3 8 ?3::235
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Nitrobenzene
385" 02D

8 -

Question Number : 142 Question Id : 813561622 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Arrange the following carbocations in the increasing order of stability with respect to their labels:

$o6 DS svs‘a SLar T8 Sud o Gy T80 ans.anu 6Birn SIS 86yl

)

Label Carbocation
31A0) ’5‘563 S8)0irD
1 (CH;),CH d

2 C H;
3 (CH;)5C v
4 CH, - CH;

Options:

, o REETL A

5 % 1<2<3<4

3 x 4<3<2<1

s 8 2EE£3 =1

Question Number : 143 Question Id : 813561623 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
For an 1sothermal and free expansion of an 1deal gas. which of the following 1s true?

I. For an adiabatic change. heat (¢) 1s non zero

-2

. For an adiabatic change. heat (q) 1s zero

L}

. For an 1sothermal reversible change. heat (q) 1s zero

4. For an 1sothermal process. the temperature changes

RATYS & 305065° 28 ©3036) AP BT a*sgaoaaf.abda & So8 TS’ DB aAn?

1. ﬂg&‘:ﬁgs D3ahe ew (q) HrRfw S

(=
eL”

B8 HSaHS) &1 (7) AR

L W)

DAHE G DIV B0 (g) BrRYEW
4. RArge 8o &S Aty 2600

Options:
1

2

'J._.I

Question Number : 144 Question Id : 813561624 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which oxide among the following cannot act as a reducing agent?

S0 53\ L0NSCEIT D BADLAA V&?

Options:
S0,

1%

2. ® i

3 ¢ Co,

. Clo,

Question Number : 145 Question Id : 813561625 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Rate of the reaction xA + yB — zC 1s given by r = K[A]*[B]”. If the concentration of 4 is

tripled. rate of reaction increased by 27 times over the mtial. Then choose the correct plot for
variation of half-life (t, on y-axis) of the reaction w.r.t total initial concentration of reactants

(on x-axis) 1s

xA+yB - 2C , & w6 1= K[A]'[B]” . A 0g) eS8 Sured 3t Dotd, wid| 56
9 56 B 27 BN DAXDAY. W3, OTaROSErAN(ty 7, Y-AErD8a0) § Sodaky
SoiradsY 8oz MEdw AS80(x-Arasiw) § o Votodrd) 392 20 o0 dar
QG080 (8otiod.

Options:

14, 7
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2.
3,.%
4, ®

Question Number : 146 Question Id : 813561626 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following compounds will exhibit cis-trans i1somerism?

808 TOS" BGDE-DDE e FERDK0 DABYBI D&?

Options:
2-butene

_ 2-&1)5935
1.v
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2-butyne

| 2-e0i8

2-butanol
| 2-&1)503 &5

butanal

| wﬁeaa"es
4, ®

Question Number : 147 Question Id : 813561627 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For the reaction NO, + CO = NO + €0, one mole of NO, and 2 moles of CO were kept in
a vessel. Calculate the equilibrium constant K, if at equilibrium 25% of initial amount €O 1s

consumed.

NO, +C0 = NO + C0, & w6{ 565 28 3rS NO, 208080 2 reww (0 & 8
IS Gotrt. HTRD 36 C0 e, Fr6os arriod 25% DAFAHEHRANS, B0
A0E), VTS NT"0S0 K, A (itdotSod.

6 o

Options:
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Question Number : 148 Question Id : 813561628 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following statements 1s true about reactivity of haloarenes towards
nucleophilic substitution reactions?

[a—

. Haloarenes are very reactive towards nucleophilic substitution reaction

b

2. In haloarenes, the € — X bond acquires partial double bond character

. The C — X bond in haloarenes 1s longer than the C — X bond in haloalkanes

L.

4. In haloarenes. the phenyl cation formed as a result of self-ionization is stable

$08 T" 1" DOHYS” Ar{EaIrHOS HAZHM 58] D WOTBVSR Votroord VO
DIBHB0 DB?

[e—

- 6" b AriEairods wojp D BbS BorjBudy DA otrax

2

¢ OIS’ € — X ot &8 Aot RErTd) Doddothof ot

LW ]

TS 0RS" € — X wothdn ire” &) 6" € — X iothdn o8 TEH00H0

4. " DB3Y" 0% DAL S0P DG\ DS SO FEANIA

Options:

7. % 1

2. & 2
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Question Number : 149 Question Id : 813561629 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The de Broglie wavelength of a tennis ball of mass 60 g moving with a velocity of 10 m.s™*

is approximately (Planck's constant h = 6.63 X 1073 ] s)

60 g @o-3 10m.s™ 5008 3otk 8) R tod ) e5°D B6ofB6 0 G200

n_J,?S
DVI (o8 Dorosdw h = 6.63 X 107 s)
Options:
i L1107 m

5 o XN 1073 m

1.1%x1073* m

4 % L1X 1073% m

Question Number : 150 Question Id : 813561630 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the item given i Column-I (method used for determining colligative property) and
Column-II (for the corresponding colligative property) and find the correct order.

Column-I Column-II
a. Beckmann method 1. Osmotic pressure
b. Ostwald-Walker method 1. Elevation in B.P.
¢. Berkeley-Hartley method ii1. Depression in F.P.
d. Landsberger method iv. Relative lowering of Vapour pressure

13 o’ o ©oTd) (SETErE (U700 Agowodd HES) 23 5008 (10 Moo (BAAD
SEPETG (6)0) & 2SHE S TS’ VOGS SAr) Bvdod:

50 -1 s 11
2. 850D DGS L BTDN0E aEdo
b, eFQ-T86 263 TREAEARTY gva 63)8
c. 060-80 560 i, S T )&
& 0 ®
d. erofiy 86 960 iv. DL TR0 A0y &

Options:
o (a—ii), (b —iv), (c —iii), (d — i)

2. % (a—1), (b —iv), (c —ii), (d — iii)
. o (@—ib), (b —iii), (c — iv), (d - 1)

il (a —iii), (b —iv), (c — i), (d —ii)

Question Number : 151 Question Id : 813561631 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Calamine. Bauxite. Malachite and Siderite respectively are ores of

SO, &5 H, St QB0IL NETE L0 SR £ TR

Options:

T o Zn, Al, Cu, Fe

Cu, Al, Zn, Fe
o

« Zn, Al, Fe, Cu
3. -

4 % Al, Fe, Zn, Cu

Question Number : 152 Question Id : 813561632 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the following graphs of a gas with their corresponding y and x coordinates

Sof) RI(UCA TPaVR) AE), Far LTV T ABELA y, ¥ AEFVS VL) 2BDGHG?

Graph / 8ar ddaw

(ij] ._,/"h r

(i

Options:
. o G=b)/(l=x), {li~a)

. (i—a), (ii—c), (iii—b)
.« (i—b), (ii—a), (iii—c)

4« (i—a), (ii—b), (iii—c)

AP EAMCET 2020

yVs. X

(@ pVvsV

b) pvs.V

Question Number : 153 Question Id : 813561633 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The compounds formed when KMnO, 1s heated to 513 K are

513 K 568 KMn0, D 3& Sosre D6y &dyT™) e

Options:
Mn0O,, O, and KOH

_ MnO,, 0, 28a3» KOH
1. ®

K,MnO,, MnO, and O,

2 KzMnO4, M?IOZ 200030 02

KzMT?-O4, MTIOE ﬂnd HzO

3 % K;MnO,, Mn0O, 008030 H,0

MnO, MnO, and O,
e« MnO, Mn0O,; B3 0,

Question Number : 154 Question Id : 813561634 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Glucose + ? ——— Sucrose

4r&8 + 7 —— &S

Options:
Glucose
ArS'E

Y

2.¢
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Fructose

>

Arabinose

5 % VOIS

Lactase

8%
4, 8 ©

Question Number : 155 Question Id : 813561635 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following relations s true based on the partial pressure and mole fraction?

P8 DEID, ArS PO P 8T D&, $08 Dowoms’ DB BEEAN? (Prw = Pave,)

Options:

pl-=x,-><T

Lo ™

Pi = Xi X Prota

Question Number : 156 Question Id : 813561636 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Match the entries from column I and Column II and choose the correct order.

Column I Column II
1. Leclanche cell a) Converts energy of combustion into electrical energy
ii. Fuel cell b) Rechargeable cell
1. Ni-Cd Cell ¢) AtAnode Zn - Zn**+2Ze

02+ 6°0 woToR0 81l &' woTod 28 H6D 1B VAN FATV) Jows BRVE ol

afg-l afg-u

1. G5ot) 0B 2) GZSTR) IS 4T Srdoyd

i, Dot ML b) IDSND e

i, Ni-Cd 20030 ¢) 8SE ¢ In - In't+2Ze

Options:

_(i—¢), (ii—b), (iii—a)

. ™
, % (i—a), (ii—b), (ii—c)

3.\;/(i—(:),. (ii—a), (iii—b)

4% (i—b), (ii—a), (iii—e¢)

Question Number : 157 Question Id : 813561637 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following 1s true about sodium chloride?

D’codo ETE 180D $08 T7IS° DO Jazdwd ?

Options:
Molecular mass = 58.5 amu

- @;::50“% = 58.5 amu

Formula mass = 58.5 amu

3‘6&&0‘ @o~3 = 58.5 amu
2.v

Molecular mass = 5.85 amu

. D OOO°? = 5.85 amu

Formula mass = 5.85 amu

A % 3"0%&.7“ Q:bstr% = 5.85 amu

Question Number : 158 Question Id : 813561638 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What sized ring 1s formed when two carboxylic acids form a dimeric structure through inter-

molecular hydrogen bonding? (consider hydrogen bond as a bond)

Boc%) waéhﬁé AT TFEED otrY @O B oS o) 3)63&?_9, Dcﬁhé H0odod
) DOATEAPU GotR? (FPEBD WoEFUR) &PE FTP0n Lotrw ST Hordoiod)

Options:
S-membered
;% 5-D000°630e)eD
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6-membered
6-0023°E))D

2. ®

4-membered
3 % 4-DOITENY

S-membered
4 @ 8-DOIATEDHD

Question Number : 159 Question Id : 813561639 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Dilute sodium hydroxide does not react with which of the following?

206 T06" DD Vdoo T yE 36| Jorsd Jarese DB?

Options:

1, % Ga

. Al
Ti

4.v B

Question Number : 160 Question Id : 813561640 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following is a biodegradable polymer of polyamide class?

208 0" FDIWE B6(GE Boodr, 23DV 0 510B F06 DB?

Options:
Dextron

_ aé;)gfa

Nylon-2-nylon-6

QETI-2-J°D-6
2.

Nylon-6. 6
3 % Qer-6, 6

PHBV

, » PHBV
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